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ad < aad d .
A5N15a0N alues ( Log — linear)

I X, Ao dwlsmarsugaaiaule nazld X Sluamfianiuzasii deliviing

UszmauanFuduves X, lag

1 x =log(X,)—log(X) Awiu
X, =Xexp(x,) (n.1)

193575 First order Taylor expansion YU exp (Xt) 79U 0

oexp
exp(x, )= exp(0)+—(x‘) (% —0)
aX[ X =0

exp(x ) =exp(0)+exp(0)(x —0)

exp(x ) =1+Xx (n.2)
unuaNmsh .2 asluaumsi n a2ld

X, = )Z(1+Xt) (n.3)
Sy

X, —X
X, = t)? (n.4)

naaums a4 dunls x uaasegluzdauiideanu lnnaouzai Fuiludunlslu

nuuTaeusudunselasyseana (Approximate linear model)
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d‘ o v d' d‘ v A
mimtmnmaau"lmamu*nﬁuwmm’mau

dami 1 afToudesdnduludendadiudunilunmsus Inanlvidealgie
{ o w Jd o a a v ' 4
Wouhga (Minimize cost) aelavesinaiandunisys Ina Aarsaniandumsldnenens
a Jd o a o @ 4 J
U3 Ina waglandumsus Ina (3.2) undagihiveunlyniaie35n15a1n5 119 (Lagrange)
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L=[R()C.())di+A Q{Ict(j)geldjr .

Y A o o A =
Taaumsoulvavunnila
1

b, o1 1

9 v
i1 C(j) "lﬂﬂmmﬁmﬁﬁwmﬁumiw V.2

Fz(j)ct(j)=atﬁct<j)?di}“ct<j)? o

0

MMIBUNTINTA (Integrate) NITBINIVOIANNTN V.3 9214
1 RN
IR(] j)di= 'M _fC 0 d| C.(i)e dj (.4)
0
- 1 9 1 |04 4
nnaumMsmsvslan C, = J.C unuadluaumsn v.4
0

g-1

R(J)Ct(i)di=I&C?ct(1)7dj (1.5)
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PC, ATC9J‘C ) dj (1.6)

o o =
Tl"lﬂﬁﬁ]ﬂ;i.ﬂﬁllﬂ”li‘ﬂ 9.6

P=A4 (v.7)
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unuaums P =4 adluaumsi .2 o2 ldaumsglasadmivaudivian |

4

C(ij)= RU) C, (v.8)
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R=[(L-p)RT +yRY [
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y P 1-0
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Cl—o‘ Cl— ‘ X X
qt +C7° 1- O- E Ct+| +(0-1 Pesi — P
R A LRI (0-D)(E b~ B)]
Cl—o‘ 9 leg o
= ——|MC
1—wﬂ(6’—1] 1o l//ﬂ(é’ 1} Z(J: '[Emé,
+(1-0)Eg, +0(EPui — )] (1.32)

- 4 d' o o 4
NITUINADIULAIN (Q—J MC =Q =1 a3uuaunIIn v.32 wiily
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1
G =———" P+ ¥ B [EmC, +ED. (¥.33)
e ke LA VA CLRLL
ED)
th+ ﬁt :(1_V/ﬂ)zl//iﬂi[Etmét+i+Et ﬁt+i] (61]34)
i=0

flnﬂﬁluﬁ'] i= 0 @@ﬂfﬂ’]ﬂwaijnﬂluﬁuﬂ'ﬁ V.34 ﬂgllg{
qt + f)t :(1_‘//ﬂ)(mét + pt 1 ‘//ﬂ Zl// ﬂ Etm i T By pt+i] (v.35)

udnaansveIHaTIW 9218

G + P = L—yB)ME + p) + B (EGs + E Prr) (v.36)
130

G, = A—yB)ME, +yB(Eb, + Emy) Ta8 B, =E P, — B (v37)
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var gap y ypot mc w pie i rpo a b;

// gap = output gap

// y = output

// ypot = potential output

// mc = real marginal cost

// w = real wage

// pie = inflation

// i = interest rate

// rpo = relative price of oil
// a = technology

// b = risk premium

varexo epo ea eb er;

//epo = oil price shock

//ea = technology shock

//eb = risk premium shock

//er = monetary policy shock

parameters sigma, eta, alpha, beta, psi, ilag, rinf, ry, rdy, rhoo,
rhoa, rhob;

sigma = 2.5184; //inter - temporal elasticity of substitution

eta = 0.2601; // elasticity of labour supply

alpha = 0.07;//energy share

beta = 0.99;//discount factor

psi = 0.8579;//degree of norminal rigidity or fraction of firms which

are not able to optimize price

ilag = 0.6273;//degree of inertia inherent

rinf = 1.5325;// relative weights on inflation

ry = 0.5011;//relative weights on output gap

rhoo = 0.7206;//persistence of energy price movement

rhoa = 0.5038;//persistence of technology movement

rhob = 0.4771;//persistence of risk premium movement

model;

y = y(+1)-(1/sigma) * (i-pie(+1)+b);

ypot = ((l+eta)/ ((l-alpha)* (sigma+eta))) *alpha* (-rpo)+((l+eta)/ ((1-
alpha) * (sigma+teta))) *a;

gap = y - ypot;

mc = (((l-alpha) * (sigmateta))/ (l+eta*alpha)) *gap;

w = (sigma+teta) *y+ ((eta*alpha)/ (l-alpha))* (rpo-mc-(1/alpha) *a);
pie = beta*pie(+1)+(((1l-psi)* (l-psi*beta))/psi)* (((1-

alpha) * (sigma+eta) )/ (1l+eta*alpha)) *gap;

i =

rpo = rhoo*rpo(-1)+tepo;
a = rhoa*a(-1) + ea;
b = rhob*b(-1) + eb;

end;

ilag*i(-1)+(l-ilag) * (rinf*pie(+1)+ry*gap)

+ er;
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var epo; stderr 0.0664;
var ea; stderr 0.0357;
var eb; stderr 0.0180;
var er; stderr 0.0137;

end;

steady;
check;

stoch simul (order=1,irf=25);

estimated params;

// PARAM NAME, INITVAL, LB, UB, PRIOR SHAPE, PRIOR P1, PRIOR P2,
PRIOR_P3, PRIOR_P4, JSCALE

// PRIOR SHAPE: BETA PDF, GAMMA PDF, NORMAL PDF, INV_ GAMMA PDF

stderr epo, INV_GAMMA PDF,0.1,2;
stderr er, INV_GAMMA PDF,0.1,2;
stderr ea, INV_GAMMA PDF,0.1,2;
stderr eb, INV_GAMMA PDF,0.1,2;
sigma, NORMAL PDF,1.50,0.37;
rhoo ,BETA PDF,0.85,0.10;

rhoa ,BETA PDF,0.85,0.10;

rhob ,BETA PDF,0.85,0.10;

eta, NORMAL_PDF,Z.O0,0.75;
psi,BETA PDF,0.75,0.05;
ilag,BETA PDF,0.75,0.100;
rinf, GAMMA PDF,1.5,0.25;

ry, GAMMA PDF,0.5,0.01;

end;

varobs rpo i y pie;

estimation (datafile=datl, nobs=40,mh replic=500000,mh nblocks=2,mh jsc
ale=0.20,mh drop=0.2,bayesian irf,irf=40,mode compute=4) gap y ypot
mc w pie i rpo;
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